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Before answering the questions, ensure that you have been supplied the
correct and complete question-paper, no claim in this regard, will be
entertained after examination.

qe . () T ge7 ST &
All questions are compulsory.
(i) 97 FEr 1 § 1-1 S % Fhae (i-xvi) TGS THX % J97 81 97 (i) &
(viii) TF 9% F FTT QF I7 & I 7 T § G 597 (ix) @ (xii) T
@ Fav gy, @& (GRa) T (Grgfaa) & A 59T (xii) @ (i) 7%
gglamedid Jo7 81 [RY T [l H & 78 T g

Question No. 1 consists of sixteen (i-xvi) objective type questions,
each of 1 mark. The answer of each question from (i) to (viii) may be
given in one or two words or sentences. Give the answer of the
questions from (ix) to (xii) in Yes/No, Right/Wrong. Questions from
(xiii) to (xvi) are multiple choice questions. Choose the correct
answer from given options.

(iii) F97 @& 2 & 13 TF & J97 2 oFH & 81 JoF J97 F FTT TTHT 25 @ 50
= 7 dorq

Question Nos. 2 to 13 are of 2 marks each. Answer each in about 25
to 50 words.

(iv) 597 &7 14 @ 19 TF & J97 4 S8 3 &1 J0F F97 & FF¢ TTYT 75
& 125 =] 7 dfomm

Question Nos. 14 to 19 are of 4 marks each. Answer each in about
75 to 125 words.

(v) T97 T 20 TF 21 Jh% 8 S7FH # & F9% 97 & FIT TTHT 150 &
200 /@ 7

Question Nos. 20 and 21 are of 8 marks each. Answer each in
about 150 to 200 words.

(i) STF FE T @ FIH F SARE FIT JAT A T & 07 oA § @
STTTHE BT TF & Fo7 B &1

Internal choice has been provided in two questions of eight marks
each. You have to attempt only one of the given choice in such
questions.

(vii) FTT TR T J97 % STJEA &7 e
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Answers should be precise and to the point.

1. () 9T H TFOMr & F B G99H 6E 6 § A R @ 2
In which decade 1st 'Census' held in India ?
(i) ‘ST e @Rl B P YR W auigd Hal & ¢ 1
How does 'Caste-system' classify the people ?
(iii) fpel & ‘FEIMTES’ UREdH & AW ARy 1

Write any two names of 'Institutional' changes.

(iv) 9”d § fhem ufged ‘@)’ § ? 1

What is the percentage of 'self employed' people in India ?
(v) ‘HEMRR [l @ Th A SR 1

Give a disadvantage of 'Interview method'.
(vi) ‘oTSeR P& F/m B ? 1

What is 'Contract Work' ?

(vii) T8 ‘e F1 FEARI & D AR G W SAERG B o 1
The Economy in which products are based on 'information', is
called ............. .

(viii) ST der § FEiRd 9sh & S e IO § 98 S © 7 1
In which 'method' many questions are raised for answer ?

(ix) ‘“STRAFEETT & FE JAvsad & a ©EE & e 81 (877 78) 1

'Globalization' means a mixture of local and global. (
Yes/ No)

(x) ‘S T TAOH THE 9N B (&) 7)1
'Caste' is a latest cultural institution. ( Yes/No)

(xi) ‘TGS A N A A F AR T Bg @ T | (FE Toa) 1

The untouchable have no order in Caste-system. (Right/ Wrong)
(xil) TF ‘STIEYN S T & AfE Tl H I a7 & 9 G B
(&Y 7)1
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The 'Research-method' is suitable to give answer for more than one

question.
(Right/ Wrong)
(xiii) 79 & f6E I T 1790 & AYFEH FTOFT GEH T Al ¢ 1
(&) = (3) =
(|) emfEm (z) fores
Which among the following country got the modern 'Census' done
in 1790 ?
(a) India (b) China
(c) America (d) Britain
(xiv) ST S9! (W) T § @1 FHear ¢ - 1
(31) aTE® (3) o=

(®) (o) T (@) & () *%
To look into self is called :
(a) Self reflexivity (b) Reflexivity
(c) Both (a) and (b) (d) None
(xv) ‘TN B GFEA F R SR R SR T orgeT A ¥ 2
(31) oo |9 FEQ S A=
(@) o= & = S @&
(|) fe=t i @
(z) @f =
In the process of 'Sanskritization' the low 'Caste' follow which
caste ?

(a) Equal to its caste
(b) Lower to its caste
() Upper class
(d) Al
(xvi) & 1999-2000 % @ed § IEioT T § fog I=a1 SAferdl B G o ¢
1

(31) 11.7% (@) 9.6%
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(|) 26.8% &) 27.0%
According to 1999-2000 the percentage of Hindu upper class in
'rural society' was :
(@ 11.7% (b) 9.6%
(c) 26.8% (d) 27.0%
ST B O faQwar fafew) 2
Give a characteristic of 'Caste’.
g G- T 7 2
What is 'Maternal Mortality-Rate' ?
g’ qRAT AR 2
Define 'Nation'.
FAEOT Bl F B 7 2
What is 'Survey method' ?

‘ST 1§ 7 2
What is 'Untouchability’ ?

“qHSHAIRT H A AR 2

Give the meaning of Globalization.

‘AT HJ T 7 2
What is 'Democracy’' ?
ST /T § 7 2

What is 'Tribe' ?
‘Al TRl & Faieh SweHd Suaee  adisy) 2

What is the important achievement of 'Adivasi-movements' ?

‘STl ey w7 ? 2
What is Zamindari System' ?
HB WEoIh I & T i 2

Give the name of 'Public Places'.
SIS’ IR SR & wEAl R SR TRE-AE R & SRR 6l
e (F9 ) B 2
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How does 'Mass Transitt and 'Mass Communications' have
filled /bridged the gap between Rural and Urban community ?

‘T H AT I A I R dA-A © P 4
What are the main factors for strengthening the 'Democracy’ ?

‘qup’ X ‘o’ § A g B ? 4
What is the relation between 'Varna' and 'Caste' ?

‘grETeTe qReds’ ST |EITh ST § oY Sdist) 4

What is the difference between 'Social-change' and 'Social-movement' ?

‘SRR - M W FHHar @ § 7 4
On what places 'Industrialization' brings 'equality’ ?
“Oefe H ARHR” 9T W FaT 7 =R @ Hifm) 4
Discuss in brief "Right to Vote".

‘qrA-E’ A § FRET W & F:1 FRT & ¢ 4
What are the reasons behind declining Child-Woman ratio' ?
‘IIAYEE B TS & SN | [OEgd It S| 8
Discuss in detail "Understanding of Colonialism."
OR
AYqr
‘IREHIBT 1 & 7 6 WA SRt
What is 'Westernization' ? Give its impact.
ST & H el o7 eFeer oY fewe ffe 8
Comment on 'Panchayati Raj System' in Tribal-areas.
OR
AYqr
‘Breaiia =gl U T & S Erdl H - afel @ s fen
g7

How much Panchayats have been empowered in 'Three-tier Panchayati
Raj System' ?
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